





You'll always find us at your convenience.

Located in the heart of new Dubai TECOM area, within easy access to the Dubai Internet City Metro Station (number 34, Red line), you will find yourself in the vicinity of Dubai Internet City, Dubai Media City, Knowledge Village, Al Barsha, Jumeirah Lake Towers (JLT) and major shopping malls. The Dubai Marina area, and Jumeirah Beach are a short drive away. This 5-star hotel is just 20 minutes away from the Dubai World Trade Centre 'DWTC' and Dubai International Financial Centre 'DIFC' in addition to a 30 minute drive from Dubai International Airport and Sheikh Maktoum International Airport DWC.

At Rotana your comfort comes first.

Five dining facilities

Club Rotana Executive facilities

Business centre

Car and limousine rental

Valet parking and private underground car park

Beauty salon for both ladies and gentlemen

Currency exchange and ATM machine

Non smoking floors

Wi-Fi internet connection

Shuttle bus services to major shopping malls and public beaches

Recreation facilities includes outdoor swimming pool, gym and massage services

Flipper's kids club





Award-winning, international cuisine and exciting entertainment is just a step away.

Prego's

Being one of the most popular Italian restaurants in the area, Prego's offers diners a cosy, convivial ambience with a modern, warm and friendly interior, an open kitchen featuring an authentic wood fire pizza oven, wine bar, not to forget the Al Fresco dining. A wide range of homemade pastas, thin crust pizzas, a bubbly Friday brunch and many other Italian cuisine delicacies are served for lunch and dinner.

Channels

Informal yet stylish all day dining restaurant, serving rich, international buffet for breakfast, lunch and dinner. Theme nights and live cooking are the highlights at Channels. Exciting choice of international cuisine and seafood specials during the Saturday brunch.

Nelson's

A gastro menu with a variety of beers and upscale snacks are also served.

A giant video screen to enjoy watching the Premier Leagues and other major sport events; a sumptuous Friday brunch, extended happy hour and DJ spinning great music will ensure this pub is a welcoming place to hang out.

The Terrace

A dynamic and funky terrace with a laid back atmosphere, shisha, great music and cocktails. The Terrace is the most happening lounge bar in town! Enjoy the outdoor mood with a sumptuous selection of bar bites and snacks or with an Al fresco brunch with pool access and tunes from the resident DJ.

Connexions

The relaxed lobby lounge with its contemporary design is the place to meet friends and business associates. Indulge yourself with a selection of light snacks, pastries, cup cakes, takeaway cakes and many other delicacies.



To experience the height of luxurious comfort, look no further than Rotana.

536 deluxe rooms and suites

Wi-Fi internet connection

Rooms for guests with special needs

Multi-channel interactive satellite, television and video on demand

IP phone

24-hours in room dining and mini bar

In room safe

You can keep fit and relax with our state-of-the-art facilities.

Temperature controlled outdoor swimming pool for both children and adults

State-of-the-art Bodylines Fitness & Wellness Club equipped with top-of-the-range cardiovascular machines, strength equipments and free weights

Sauna, jacuzzi and steam room

Massage rooms

Club Rotana

Complimentary high-speed Wi-Fi internet connection

Private check-in and check-out

Club Rotana lounge offering complimentary breakfast, afternoon tea and evening cocktails

Library with complimentary local and international newspapers and magazines

Conference and events facilities

Banquet room	$LxW= m^2 - H$	Boardroom	U-Shape	Classroom	Theatre	Seated	Cabaret	Cocktail
Meeting Plus 1	$8 \times 5 = 40m^2 - 3$	12	12	12	24	10	10	-
Meeting Plus 2	$15 \times 7 = 105 \text{m}^2 - 3$	30	30	42	65	48	30	50
Meeting Plus 3	$10 \times 7 = 70 \text{m}^2 - 3$	16	18	24	50	40	25	40
Meeting Plus 4	$10 \times 8 = 80 \text{m}^2 - 3$	16	18	24	50	40	25	40
Meeting Plus 3 & 4	$10 \times 15 = 150 \text{m}^2 - 3$	34	36	60	100	80	45	80
Meeting Plus 5	$10 \times 7.5 = 75 \text{m}^2 - 3$	16	18	24	50	40	25	40
Meeting Plus 6	$10 \times 8 = 80m^2 - 3$	16	18	24	50	40	25	40
Meeting Plus 7	$10 \times 8 = 80 \text{m}^2 - 3$	16	18	24	50	40	25	40
Meeting Plus 6 & 7	$10 \times 16 = 160 \text{m}^2 - 3$	34	36	60	100	80	45	80
Meeting Plus 8 & 9	$10 \times 16 = 160 \text{m}^2 - 3$	34	36	60	100	80	45	80
Meeting Plus 6, 7, 8 & 9	$10 \times 30 = 300 \text{m}^2 - 3$	70	72	130	250	200	90	200
Meeting Plus 7, 8 & 9	$10 \times 22 = 220m^2 - 3$	48	54	81	150	135	75	135
Meeting Plus 10	$10 \times 5 = 50 \text{m}^2 - 3$	16	17	24	30	16	10	-
Meeting Plus 11	$15 \times 11 = 165 \text{m}^2 - 3.5$	36	36	81	150	88	50	100
Meeting Plus 12	$9 \times 4 = 36m^2 - 3$	16	-	12	20	10	10	-
Meeting Plus 13	$13 \times 9 = 117 \text{m}^2 - 3$	30	30	42	65	48	30	65
Meeting Plus 14	10 x 8 = 80m2 - 3.2	16	18	24	50	40	25	40
Meeting Plus 15	10 x 8 = 80m2 - 3.2	16	18	24	50	40	25	40
Meeting Plus 14 & 15	10 x 16 = 160m2 - 3.2	34	36	60	100	80	45	80
Meeting Plus 16	8 x 5 = 40m2 - 3.2	10	-	-	20	10	5	-

Rotana has everything you need for every type of event.

Natural daylight

15 multi-purpose meeting rooms with a capacity up to 220 persons

Built-in LCD projectors

DVD player

CD player

Ceiling mounted speakers

Digital signage

ISDN telephone lines

High-speed Wi-Fi internet connection

Central control dimming system

Overhead projectors

Video conferencing facilities

PA system

Cordless microphones

Podium









Rotana Toll Free Numbers

Bahrain: 8000 4039 Egypt: 0800 7777700 K.S.A.: 800 3030400 Qatar: 800 4929 U.A.E.: 800 7744

Reservation Centres

Germany: 00800 555 10 555 UK: 00800 555 10 555 China: 400 120 2374 India: 000 800 650 1738 000 800 650 0358 - Airtel

Rotana Sales Offices

Abu Dhabi: +971 2 409 7222
Beirut: +961 1 371 888
Cairo: +20 2 2644 0992
China: +86 21 6289 5025
Damascus: +963 11 666 4003
Dubai: +971 4 279 2400
Germany: +49 212 139 9909
Khartoum: +249 1 8700 7777
Kuwait: +965 2 393 1000
London: +44 207 520 5491
Moscow: +7 495 968 1445
New Delhi: +91 11 4950 5050
Riyadh: +966 11 451 1145